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//Sample using LiquidCrystal library

#include <LiquidCrystal.h>

#include <Boards.h>

#include <Firmata.h>

#include <Servo.h>

/*

*/
Li

//

select the pins used on the LCD panel

led Dffio T3 v vEFSE
LiquidCrystal(rs, enable, d4, d5, d6, d7)
rs: LCD @ RS v v iZ 83 % Arduino fllo v v F 5
rw: LCD @ RW v v 2%t 3 % Arduino fllo v v F 5
enable: LCD @ enable v v I ##i 3 % Arduino o v v &5
d0~d7: LCD o data ¥" v i 4¢3 % Arduino fllo v v %5

do~d3 34 7> a v, BT 2L 4 KDF—%2 54 v (dd~d7)ZFcHlEL £ 3,

quidCrystal 1cd(8, 9, 4, 5, 6, 7);

define some values used by the panel and buttons

int pushbutton = 0;

//

NR —

int INTimepattern = 0;

int OUTTimepattern = 0;

int pattern = 0;

/*

I=IN
O =0UT
cnts = second

cntm = minute
DR/

int Ients = 0;

int Ientm = 0;

int Ocnts = 0;

int Ocntm = 0;
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unsigned long [timemillis = 0;
unsigned long Otimemillis = 0;
unsigned long I[timel = 0;
unsigned long [time2 = 0;
unsigned long [time3 = 0;
unsigned long Otimel = 0;
unsigned long Otime2 = 0;
unsigned long Otime3 = 0;
// g

unsigned long millis();
//iE % D Ath

int IentIN = 0;

int OcntOUT = 0;

//FEFE

#define LEFT 0

#define UP 1

#define DOWN 2
#define RIGHT 3
#define SELECT 4
#define NONE 5

#define analogswitch AQ

// read the buttons
int button() {
pushbutton = (analogRead(analogswitch) / 4);
if (pushbutton > 240) return NONE;
if (pushbutton < 10) return RIGHT;
if (pushbutton < 50) return UP;
if (pushbutton < 100) return DOWN;
if (pushbutton < 150) return LEFT;
if (pushbutton < 200) return SELECT;
// return NONE;

void timerIN() {
switch (INTimepattern) {



case 0:

Itimemillis = millis();

I[time2 = [timemillis - Itimel;

if (Itime2 > 999) {
I[timel = [timemillis;
Ients += 1;

}

if (Icnts > 59) {
Icnts = 0;
Ientm += 1;

}

IentIN = 0;

break;

case 2:
IcntIN++;
if (pattern == 0) {
Itime2 = 0;
INTimepattern = 4;
}
break;

case 4:

IcntIN++;

Itimemillis = millis();

Itimel = Itimemillis;

Itime2 = Itimemillis - Itimel;

if (IentIN > 10 && pattern == 2) {
Itimel = Itimemillis;
INTimepattern = 0;

}

break;

void timerOUT() {

switch (OUTTimepattern) {
case 0:

Otimemillis = millis();



Otime2 = Otimemillis - Otimel;
if (Otime2 > 999) {
Otimel = Otimemillis;
Ocnts += 1;
}
if (Ocnts > 59) {
Ocnts = 0;
Ocntm += 1;
}
break;

case 1:

break;

void switcher() {

pattern = button(); // read the buttons

switch (pattern) {
case LEFT:
Itimemillis = millis();
Itimel = Itimemillis;
Itime2 = Itimemillis - Itimel;
Ients = 0;
Ientm = 0;
break;

case UP:
if INTimepattern < 1) {
INTimepattern = 2;

}
/* if (INTimepattern > 0) {
INTimepattern = 0;
1*/
break;

case NONE:

break;



void LCD() {
lcd.setCursor(5, 1);
led.print(Icntm);
led.print(" ");
led.print(Icnts);
led.print(" ");
led.print(Itime2);
led.print("  ");
lcd.setCursor(5, 0);
led.print(Ocntm);
led.print(" ");
led.print(Ocnts);
led.print(" ");
led.print(Otime2);
led.print("  ");

}

void printer() {
Serial.print("IN");
Serial.print(" ");
Serial.print(Icntm);
Serial.print(" ");
Serial.print(Icnts);
Serial.print(" ");
Serial.print(Itime2);
Serial.print(" ");
Serial.print("OUT");
Serial.print(" ");
Serial.print(Ocntm);
Serial.print(" ");
Serial.print(Ocnts);
Serial.print(" ");
Serial.print(Otime2);
Serial.print(" ");
Serial.print(INTimepattern);
Serial.print(" ");
Serial.print(pattern);

Serial.print(" ");



Serial.println(IcntIN);

void setup()

{
Serial.begin(250000);
lcd.begin(16, 2); // start the library
led.setCursor(0, 0);
led.print("OUT"); // print a simple message
led.setCursor(0, 1); // move to the begining of the second line
led.print("IN");

void loop ()

{
timerIN();
timerOUT();
switcher();
LCD();

printer();



